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*1
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0.3324
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0.6366%*
1.00
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1.00

0.6496™*
1.00
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1.00
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0.3332**
1.00
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(X-) 4 (X2)  0.6366
$
0.01
1.2 d
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| (X2)
(Y)  0.3339 I
(Xi) (X2)  0.6635
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1.3 I
(X" I (Y) 4254
N (x2) I
(Y) 03332 I
(%) (X2)  0.6496 I
) |
0.01
2 1]
(Y (X
(X2)
FYX(X = 0.42287%
RAYX X, = °-17882
Ry Y X = 0.44208%
- 0.19544

r2Y. X, Xj
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RYXtX = 0.43195**
r2Y XN = 0.18519
** p <01
» #
( | |
»
0.01 »
0.42287 0.44208 0.43195
Ry . x X" !
0.17882 ( (X.))
(X2) (@ ()
17.88 » ' 82.12
R2Y X XfC !
0.19544 ( (%J) (X2)
{ (Y) ' 19.54
( ' 80.46
R2y Xj Xl ! 0.18519
{ (X-) (X2)
! a (Y) ' 18.52

' 61.48
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